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1.  During mitosis, the nuclear  membrane disappears during…

a) the middle of prophase

b) the beginning of metaphase

c) the beginning of anaphase

d) during interphase

2.  The point where the centromere divides in two is the beginning …

a) prophase

b) metaphase

c) telophase

d) anaphase

3.  During what phase does the nuclear membrane reappear?

a) prophase

b) anaphase

c) telophase

d) metaphase

4.  Before  prophase, there is…

a) the division of the cell into two equal parts.

b) the disappearance of the nuclear membrane

c) the doubling of the chromosomes.

d) the formation of the cell plate

5.  What type of cell never goes through asexual reproduction?

a) Skin cells

b) Blood cells

c) Sperm cells

d) Hair cells

6.  DNA form long strands called …

a) centromeres
b) centrioles

c) chloroplasts

d) chromatin

7.  The uncontrolled replication of cells is known as…

a) meristem cells

b) cancer

c) regeneration

8.  This forms in a plant cell during the course of cell division…

a) a cell membrane

b) chromosomes

c) a cell plate

9.  Cytoplasm…

a) resembles a jelly-like substance 

b) forms a series of canals.

c) breaks down food

d) is made of up DNA

10. Mitosis does not happen in plant cells.


a)   True

b)  False

11.  Match the following:
_____C_______ powerhouse of the cell




a. endoplasmic reticulum

_____F_______ contain chlorophyll




b. ribosomes

_____A_______ tubes to connect nucleus to membrane

c. mitochondria

______B______ make protein





d. vacuole

_____D_______ sac to hold water & food



e. chloroplasts
12.  Explain why mitosis is an important part of the life cycle of the cell.  
Three reasons why cells reproduce by asexual reproduction:
                  1.  Growth
                  2.  Repair
                  3.  Replacement
13.  What is cancer and what is it such a concern? 
· Cancer occurs when cells begin to divide uncontrollably.
· Cancerous cells interfere with surrounding cells and disrupt their normal functioning.
· Tumors/lumps are formed from the cells that pile up on each other.
14. 

	Type of asexual reproduction
	How does this sort of asexual reproduction work?
	Example of organism that uses this type of reproduction

	binary fission
	
The nucleus divides by mitosis and the cytoplasm divides, forming 2 new daughter cells of equal size.
	one-celled organisms such as the ameba and paramecium.

	fragmentation
	a small piece or fragment, breaks away from the main mass and grows into a new individual. 
	Mushrooms

	budding
	The division of cytoplasm is unequal so one of the daughter cells is larger than the other.  The daughter cells can separate or remain attached. A copy of the nucleus is made, then a tiny bud begins to form on the cell wall.  This bud, containing the new nucleus continues to grow and eventually breaks away. 
	Hydra and yeast

	spores
	Spores are produced in large numbers by mitosis.
Spores are surrounded by a tough coat to help them survive harsh environmental conditions. When mature, and the sporanges explode,  spores can float on air currents. 
	molds, mosses, etc

	regeneration
	Refers to the replacement or regrowth of lost or damaged body parts
	lizard


15.  What is the difference between asexual and sexual reproduction?

1. Asexual Reproduction (5 phases)
· 1 mother cell divides into 2 daughter cells 
· Daughter cell is identical to its mother
· Interphase + Mitosis
· All human cells have 46 chromosomes called “DIPLOID cells”
· Produce SOMATIC cells (not sexual cells)
Sexual Reproduction (9 phases)
· 1 mother cell divides into 4 daughter cells 
· Daughter cells have ½ the chromosomes of their mother (23) “HAPLOID cells ”
· Interphase + Meiosis I + Meiosis II
· Crossing over of genetic material often occurs.
· SEXUAL cells (egg and sperm)  known as “gametes”
16.  Complete the diagram below of the life cycle of a cell (mitosis).  Identify the stages (letters) and identify the labeled parts of the cell indicated. (numbers).
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A. Prophase

C. Anaphase

E. Intephase

B. Metaphase

D. Telophase

17.  a)  What is meiosis?  How is it different than mitosis?  

Look at the answer to # 15

 b)  What is the difference between haploid and diploid cells?

Mitosis – 2  diploid cells (46 chromosomes)

Meiosis – 4 haploid cells (23 chromosomes)


 c)   What is crossover and why is it important?  

· During Prophase I
· One chromatid of each chromosome crosses over with the chromatid of the other chromosome. 
· The result is an exchange of their genetic material
· Important or genetic diversity
18.  The end result of meiosis is 

a)  meiosis produces gamete cells with diploid chromosomes

b)  meiosis produces gamete cells with haploid chromosomes

c)  meiosis produces somatic cells with diploid chromosomes

d)  meiosis produces somatic cells with haploid chromosomes

19.  Complete the following table on the phases of meiosis:
	Name of Phase
	Description

	1. Prophase I
	Homologous chromosomes pair up and form tetrad

	2. Anaphase I
	Spindle fibers move homologous chromosomes to opposite sides

	3.  Telophase II
	Nuclear membrane reforms, cytoplasm divides, 4 daughter cells formed 

	4.  Metaphase I
	Chromosomes line up along equator, not in homologous pairs

	5.  Prophase I
	Crossing-over occurs 

	6. Anaphase II
	Chromatids separate

	7. Metaphase II
	Homologs line up alone equator

	8. Teophase I
	Cytoplasm divides, 2 daughter cells are formed
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1. Anaphase I
2. Anaphase II
3. Prophase I
4. Metaphase I

5. Metaphase II

6. Telophase I

7. Prophase II

8. Tekophase II

